FAEEHEF

SHREHBERZES

ER26EE
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EES = [-1574:4 EES % = [-1574:4
] [EE il = 2,180 2,340 1.1 2,166 2,884 1.3
=7 ot iz | & 74,011 72,072 35.1 75,057 72,861 35.2
BT &z i} i 835 840 0.4 781 767 0.3
bt} N 78 & 0 — — 2 3 0.0
Rl B & Ed 3,098 7,345 3.5 3,527 7,202 3.4
mo® € ® A & 19 20 0.0 18 16 0.0
E Hy 8 & 116,575 113,599 55.4 115,208 113,730 55.0
(SEETEESNEHES) (116,553) (113,578) (55.4) (115,188) (113,711) (55.0)
(SOBEZHEFTHTESE) (21) (20) (0.0) (19) (19) (0.0)
i HA & = 8,335 8,548 4.1 8,792 9,099 4.4
EOE O @B = — — - — — —
= =t 205,057 204,766 100.0 205,556 206,565 100.0
(F) BARIESOBRIETT,
OEE - REMUEERS (st : EHE - %)
= I FH26ERE FRR27EE
%S &Rt % B 15724
mEBMEEE 75,253 36.7 76,516 37.0
BB 68,151 33.2 69,375 335
EHMERESE 122,147 59.6 122,830 59.4
SBEEEFEHEE 113,578 55.4 113,711 55.0
SEZEHENEHEE 20 0.0 19 0.0
Z O fi 7,365 3.5 7,218 3.4
st 204,766 100.0 206,565 100.0
EEMES - — — —
= = 204,766 100.0 206,565 100.0
O -FENEEFIIES (86 T - %)
TR 26EE ER2TERE

TS Fi5EE 1579
mEBEEE 77,029 37.5 78,009 37.9
B 67,464 32.9 69,435 337
EH M E 124,910 60.9 124,001 60.3
SLEEEEFEHEE 116,553 56.8 115,188 56.0
SBZEEEFEHRTEE 21 0.0 19 0.0
Z O ftt 3,117 1.5 3,546 1.2
=t 205,057 100.0 205,556 100.0
EEMESE — — — —
= st 205,057 100.0 205,556 100.0
GE) 1. RBEIES = LEES +SBES +FEES HEES
2. EHIMTES =TS + THRES
BlE & EHES EABIOBHBEEICONRNHET D THES
TESHEHES  FEABETR OSSN OEICH L TCEINER T2 A
OHEEERERRS s =m0 OEE-SENREEERS (84 : B - %)
o G S FERR265EE ER2TEE
% B 079 % B AL % B fERLE % B 15729
&l A | 169,095 82.5 | 170,235 82.4 = g8 67,317 32.8 | 68,005 32.9
& A 26,302 12.8 | 27,074 13.1 = 8 4t 137,448 67.1 | 138,559 67.0
£ B B B 215 0.1 306 0.1 a it | 204,766 100.0 | 206,565 100.0
N £ 9,152 4.4 8,948 4.3
=) st | 204,766 100 | 206,565 100
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